BT TRIA O - HEHHEE X T 3FEE§(1E1 1AERIBHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,345 86,956 41,641 45315
RIRET1T 4 11 5 6
RIRET2T 25 57 28 29
RIRET3T 112 378 184 194
RIRET4T 388 1,014 493 521
B 529 1,460 710 750
REH 2,609 6,342 2,983 3,359
L&A 4,108 9,584 4,586 4,998
5E 2,439 5,932 2,874 3,058
B AN 1,209 2,840 1,340 1,500
BERT 1,003 1,624 782 842
BER2T 754 1,472 695 777
BHERST 688 1,402 677 725
g 2,445 4,498 2,154 2,344
BARE 246 648 325 323
= 2,137 5,244 2,477 2,767
hERE 599 1,495 687 808
e 2,258 5,151 2,498 2,653
25 L ET 2,237 5,322 2,536 2,786
B &AL BT 74 167 68 99
HEFILET1T 587 1,338 627 711
HEFILET2T 594 1,391 668 723
HEZFILAT3T 580 1,380 677 703
g 1,835 4276 2,040 2,236
B & it B Fr ET 629 1,554 763 791
BHEREBET1T 605 1,259 598 661
BHERERET2T 719 1,682 826 856
BHERERETST 785 1,768 821 947
HEFMHET4T 467 1,072 520 552
HEHFMHETST 779 1,680 800 880
HEHFHET6T 826 1,979 950 1,029
HEFRET7T 858 2,059 991 1,068
HERERETST 46 138 63 75
£t| 5085 11,637 5,569 6,068
HEF R FET 1,754 3,911 1,904 2,007
S|EFET1T 568 1,534 774 760
S|EFET2T 748 1,827 879 948
S|EFET3 T 734 1,513 727 786
g 2,050 4874 2,380 2,494
ERE1T 547 1,349 646 703
EIRET2T 297 736 360 376
EREIST 454 1,307 635 672
EIRETAT 667 1,559 736 823
EIZEIST 459 963 478 485
g 2,424 5,914 2,855 3,059
MEH 2,645 6,045 2,858 3,187
J\THET1T 24 26 5 21
J\THET2T 25 66 33 33
J\THEI3T 58 137 64 73
B 107 229 102 127
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